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(3)

The byproduct of photosynthesis is :

(A) Carbohydrate

(B) Oxygen

(C) Protein

(D) Fat

The evolutionary history of a kind of

organism is called :

(A) Phylogeny

(B) Organic evolution

(C) Atavism

(D) None of the above

Photosynthesis generally takes place in

which part of the plant ?

(A) Bark of stem

(B) Leaf and chloroplast bearing part

(C) Roots

(D) None of the above
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4.  SRICIAT g 4. Gerontology is related to :

(A)  TTcT JARAT B JeTIA A (A) Study of childhood
(B) T?F{[ AR B JATIT A (B) Study of infant stage
(C) JETaRM & AT | (C) Study of old stage
(D) TIIATaRAT B FEUIT (D) Study of young stage
5. 3fdeIug & 99 ® 5. Phylum octopus is :
(A)  TIfereT (A) Annelida
(B) HIeaT (B) Mollusca
(C) 31 el (C) Arthropoda
(D) URIGNT (D) Porifera
6. fifme L A9 T SR | 6.  Example of exclusive marine phylum is :
NRIESIED (A) Protozoa
(B) TR (B) Porifera
(C) gdIgH ST (C) Echinodermata
(D) SUYa H H IS Tl (D) None of the above
7. RN 7. Ataxonis:
(A) FRT G & b T8 (A) agroup of related species
(B) WWIMIT URARI &I Th A8 (B) agroup of related families
(C) [l ugid &1 v affal | (C) ataxonomic group of any ranking
(D) SHfad Sfiai &1 Tdh JaR (D) atype of living organisms

Ag-1011 (4) Set-C



8. BIAD BIRAHT H TR d 2 8. Chromosome occurred in somatic cell are :

(A) ST 9. (n) (A) Haploid (n)
(B) f&qfra @. (2n) (B) Diploid (2n)
() o 4. (3n) (C) Triploid (3n)
(D) SWE ¥ | FIg el (D) None of the above
9. ICBN ................... Eﬁ %l_q W %l 9 ICBN Stands for :
(A) TTHIFNG Bl 3G dfHad (A) International Code of Botanical
St Nomenclature
(B) 3MUSIT BRI 3i1% dcHed IM (B) Indian Congress of Botanical
Names
) e @ dm  dcHed (C) Indian Code of Botanical
ST Nomenclature
(D) TTIINA BN 3% dicHad M (D) International Congress of Botanical
Names

10. Udhd OFd I Gad &I ST dI fohar 10. The process of producing offspring from

FEad & a single parent is called :
(A) il T4 (A) Asexual reproduction
(B) ifite oW (B) Sexual reproduction
(C) (A) 3R (B)3HI (C) Both (A) and (B)

(D) SUYa H A Bl 7l (D) None of the above

Ag-1011 (5) Set-C



11. ¥4 T IsT<d M © 11. Scientific name of human is :

(A) TRt TR (A) Panthera tigris
(B) B AftR=a (B) Homo sapiens
(C) B DR (C) Homo casia
(D) SW@ ¥ ¥ I3 T (D) None of the above
12. fog uoft § 918 == gdr g ? 12. In which animal does fertilization take

place outside ?

(A) fex (A) Deer
(B) T (B) Monkey
(C) #Bell (C) Fish
(D) deI (D) Rat

13. qx® RAEHT T erT fordl TR 13.  The book ‘Systema Nature’ was written

of | by

(A) e (A) Linnaeus

(B) facax (B) Whittaker

) S T (C) De Candolle
(D) 3R (D) Aristotle

Ag-1011 (6) Set-C



14. qfifor S o7 FE HH € : 14. The correct sequence of taxonomic

categories is :

(A) ST~ W~ BEaH -~ AR (A) Genus— Species~ Phylum~
Order

(B) WINI~ S~ 3ffeR~ HIseH (B) Species— Genus— Order—
Phylum

(C) WIRI~ S~ BIEaH~ Al (C) Species~ Genus— Phylum—
Order

(D) 3ifSR~ BT~ Weei~ fiFd (D) Order—~ Phylum— Species—
Genus

15, H o 3 U 8ld § | 15. In which the reproductive organs are
hidden ?

(A) foerm (A) Cryptogams

(B) UfIRIRTH (B) Angiosperms

©) IR (C) Phanerogams

(D) Sugad FI (D) All of the above

16. fbq o B T T 3Mdd bl ordl 16. Which plant is called terror of

59 Bengal ?
(A) I (A) Lemna
(B) I (B) Echornia
(C) 3mg (C) Agev

(D) Fyer (D) Nelumbo

Ag-1011 (7) Set-C



17.  SNfad BT H SifRiToT BT 9 © - 17. The source of oxygen in a living cell

is:

(A) WM (A) Protein

(B) ®HEEIESC (B) Carbohydrate

(C) Sl (C) Water

(D) @ (D) Fat

18. URicH TIEBhIgeN aFNIfad T § - 18. Pennisetum typhoides is botanical name
of :

(A) AR @ (A) Jowar

(B) TR @I (B) Bajra

(C) TH-TH & (C) Khus-Khus

(D) HdhT DI (D) Maize

19. Wel ¥ e & fAwi qlg Bl 19. The growth in roots opposite to light is

3. called :

(A) o« & fauRig i (A) Negative geotropism
(B) o & HIve T (B) Positive geotropism
(C) Y&drIuyg (C) Photonastic movement
(D) SUYa H A Bl 7l (D) None of the above

Ag-1011 (8) Set-C



20. JGqA PIT fIHTSH Bl T 20. Meiosis cell division takes place in :

(A) dfg DI ¥ (A) Growth cell
(B) HRIF BIRHT # (B) Somatic cell
(C) = HIRI H (C) Reproductive cell
(D) ey # (D) Root cap
21. YAl &I UBCl YHIUL! G T - 21.  First photosynthetic organism of earth is :
(A) Sl (A) Bacteria
(B) arel (B) Algae
(C) ®I® (C) Fungi
(D) <SRICH (D) Diatoms
22, OOl IRIR BT WS © 22.  Member of Poaceae family is :
A) TE (A) Wheat
(B) M U™ (B) Beach grass
(C) d (C) Bamboo
(D) Sugad F4I (D) All of the above
23. 9¢ @I Y B MUR Bl A E 23. The method of determining the age of
tree is ;
(A) U B T (A) Plant height
(B) aIffe qordl &I A (B) Number of annual rings
(C) “IaWR fafdy (C) Biomass method
(D) SUYa H A Bl 7l (D) None of the above

Ag-1011 (9) Set-C



24, fq7-97 &7 T B

(A) FETS B IART A
(B) T @I SRT |
(C) YAl & SAURT 4

(D) SWE & 4

25. 1753 ¥ fg7m gl &1 Rigra fba gwio

4 TR g ?

(A) THTAGIR deed
(B) W Ie=A
(C) ORI WA

(D) TEIHD

26. HUIRG T TS BT SAER € -

(A) T TS
(B) Tawdl W8
(©) vl
(D) TFerrgfm

Ag-1011

(10)

24,

25.

26.

Big-bang is related to :

(A) Origin of the universe

(B) Origin of life

(C) Origin of earth

(D) All of the above

In which book was the theory of binomial

system published in 1753 ?

(A) Nomenclature Botanicus

(B) Species Plantarum

(C) Genera Plantarum

(D) Anatomica

Example of tap root modification is :

(A) Tuberous root

(B) Moniliform

(C) Fusiform

(D) Climbing

Set-C



27. IFIAH H SIRGAAT BT TN s 27.  Survival of the fittest was used by :

g1 fobarr w737 o ?
(A) oF (A) Lamarck
(B) TWEC WK (B) Herbert Spencer
(C) TN SIfde (C) Charles Darwin
(D) T fe I (D) Hugo de Vries
28. UGENTTA URwdl enRd ol € 28.  Monocot leaves possess :
(A) e ARRCH (A) Lateral Meristem
(B) Tiied aRwH (B) Apical Meristem
(C) SUcRdelR! ARRCH (C) Intercalary Meristem
(D) SUId H H I el (D) None of the above
29. BIF & W 9T UeT e & ? 29.  Which is that produces seeds ?
(A) CRemwrger (A) Pteridophyta
(B) cImrgel (B) Thallophyta
() frTH (C) Gymnosperms
(D) SISl (D) Bryophyta

Ag-1011 (11) Set-C



30.

31.

32.

33.

PIF-H1 Ul Sfied § Ud IR Godl § ?

(A) o
(B) HIed
(C) AP
(D) TUER

IR SIET Hesd o U WM g U
TR foar

(A) o

(B) HX

(12)

30.

31.

32.

33.

Which plant occurs flowering one time of
life ?

(A) Bamboo

(B) Pine

(C) Oak

(D) Deodar

Gregor Johann Mendel preferred the

plant for his classical

experiment.

(A) Rice

(B) Garden peg
(C) Maize

(D) Mustard

Propagation through bulb occurs in :
(A) Potato

(B) Sugarbeet

(C) Ginger

(D) Onion

Potato is modification of :
(A) Tap root

(B) Adventitious root
(C) Stem

(D) Leaf

Set-C



34, WY & & [ BT BRI B 34,

(A) PHECRS
(B) TARITIRE
(C) BT
(D) THIgEIRE

35. e fehar 9 dlem GRS I ¢ | 35.

(A)  TPII-HIeIyoT
(B) WHNI-Ta4
(C) IS
(D)  3FaRor

36. 3A-fagl FMvad &1 @I & 36.

(A) IR & TR

(B) IR B I

(C) MR W

(D) SWa ¥ ¥ I3 Tl

37. WWIfdd ®U J SIRINAT & 37.

(A) RO

(B) waurd}

(C) Ul Tg wurey
(D) SWad # | BIS T2

Ag-1011 (13)

Green colour of plant is due to :
(A) Chromoplast

(B) Chloroplast

(C) Leucoplast

(D) Amyloplast

Plant wilts due to excess of :

(A) Photosynthesis
(B) Photorespiration
(C) Transpiration

(D) Absorption

In-vitro fertilization take place :

(A) Out of body
(B) Inthe body
(C) On the body

(D) None of the above

Naturally bacteria is a/an :

(A) Heterotrophic

(B) Autotrophic

(C) Heterotrophic and Autotrophic

(D) None of the above

Set-C



38. fog g § <arem @@ @ | 38, In which organism the flame cell is

I 9 2T AT & ? formed by excretory system ?
(A) DI (A) Crabs
(B) Ul HfA (B) Flatworm
© Eﬁﬂaﬂ (C) Earthworm
(D) & (D) Bug
39. IURIS HUIRT 9 BT IR 2 39. Example of subaerial stem modification
IS :
(A) IR (A) Runner
(B) ¥R (B) Sucker
C) wred (C) Stolon
(D) Sugad Fl (D) All of the above
40. &l U G ¢ ¢ 40. Kale plant is member of :
(A) Tl RaR &1 (A) Poaceae family
(B) s URAR @I (B) Brassicaceae family
(C) Dl URaAR & (C) Fabaceae family
(D) SUId H H I el (D) None of the above
41, JRATNG WSl Bl HUKR B 41. Modification of adventitious root is :
(A) TIRY e (A) Tuberous roots
(B) ISy e (B) Nodulous roots
(C) AT e (C) Floating roots
(D) Sugad FI (D) All of the above

Ag-1011 (14) Set-C



42. T B IR 2 42.

(A) ST T

(B) oI

(C) HENMH

(D) SWH & W B &l

43. 4 ool SR dede H IR Tal 0 43

gIe B |

(A)  THATE T8
(B) UdHdGIuA T
©) fedroros o
(D) fedorm=r Ss

44. IR fTA Hag eI IR W © 44,

A) fedorh os 4
(B) URdITH TTg #
€) i @ H
(D) THdrgAl a H

45. GAGH IR T BT I 2 45.

(A) RIS BIRH
(B) T IR
(©) g IR
(D) SWad # | BIS T2

Ag-1011 (15)

Unit of heredity is :
(A) DNA
(B) Gene
(C) Chromosome

(D) None of the above

Pith and cortex do not differentiate in :

(A) Monocot root
(B) Monocot stem
(C) Dicot stem

(D) Dicot root

Four radial vascular bundles are found in :

(A) Dicot root
(B) Monocot root
(C) Dicot stem

(D) Monocot stem

Process of mitosis cell division takes

place :

(A) Somatic cell
(B) Reproductive cell
(C) Gametic cell

(D) None of the above

Set-C



46.

47.

48.

49,

Ag-1011

SIS U ST §
(A) et A

(B) UM

(C) @i o

(D) fcre ¥
SEREECRSE

(A)  3rfreT

(B) -8Rd Iara
(C) ®YA I WIT
(D) Suda Wl

WATAY ¥ WETGY BT dfddl W)

RHTRRYT HEAT 2 :
NIRELEE!

(B) TRFTY

(©) wa

(D) fergefiaxer

BIF-H SUAT A= BIRIGT H el U I

g ?
(CVINEEIRIL
(B) Rfddar
(C) a®

(D) S U T

(16)

46.

47.

49.

Xylem is found in :
(A) Animals

(B) Plants

(C) Insects

(D) Nematode

Biofertilizer is :

(A) Azolla
(B) Blue-green algae
(C) Vermicompost

(D) All of the above

Transfer of pollen from anther to stigma

is called :

(A) Fertilization
(B) Pollination
(C) Propagation

(D) Emasculation

Which organelle is not found in animal

cell ?

(A) Ribosome

(B) Vacuole

(C) Plastid

(D) DNA

Set-C



50.

Y

52.

53.

dve & yor @) yaford fafr @

(A)  Hpetd

(8) ey frior

(©) fawwsT

(D) SWH # | B &l
fareprer 781 81T oK

(A) R i e 78 2
(B) SiIM YMIGEI ©

(C) TAfERYT PEE ©

(D) <Ml # aTgaR T 78 @
BT &1 AT BT 2

(A) HATH

(B) WagEl ditgud W

(C) g™ ¥
(D) PP HgIH |

Wi @ IR & U AW o 2

(A) ST
(B) drg

(C) difioH
(D) EgI

Ag-1011
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50.

51.

52.

53.

Common method of reproduction in yeast
IS :

(A) Budding

(B) Spore formation

Fission

(©)

(D) None of the above

Evolution will not occur if :

(A) Somatic variation not heritable
(B) Genes are without effect

No environmental influence

(©)

(D) No genetic variation in population

Cork is formed from :

(A) Phloem

(B) Vascular cambium

(C) Xylem

(D) Cork cambium

Essential component for origin of life is :
(A)  Water

(B) Air

(©)

Oxygen

(D) Nitrogen

Set-C



54. AR DI fawror aof <Tel rawen g -

(A) T
(B) WHw
(©) e
(D) HHW

55. SEIUS Pl AT hedl ©

(A) BB
(B) ®IRAI
(C) STl
OERRIEIS

56. TS @ B ¢ :
(A) A TGI8
(B) U Bl AERT T
(C) vagd
(D) Swfa
57. -9 Silg Swafer g ?
(A) H3h
(B) ENE] HERHl
(C) g3
(D) 99

Ag-1011
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54.

55.

56.

57.

Longest phase of mitosis cell division is :

(A) Anaphase
(B) Prophase
(C) Telophase

(D) Metaphase

The study of universe is called :
(A) Conchology

(B) Cosmology

(C) Biology

(D) Pathology

Function of root is :

(A) Food storage
(B) Support to plant
(C) Respiration

(D) All of the above

Which organism is hermaphrodite ?

(A) Frog

(B) House fly

(C) Earthworm

(D) Snake

Set-C



58. DIBIY U 2 58,

59. HICl BT IETIT heddl ¢ 59,

(B) Uerraroll
(C) THeirl!
(D) et

60. WISAT BIHIN BIAT © : 60.

(A) HHo H
(B) UGE araRen H
©) e H
(D) Sugad J4 H

Ag-1011 (19)

Cell organelle is :

(A) Cell wall

(B) Endoplasmic reticulum

(C) Peroxisome

(D) All of the above

Study of insect is called :

(A) Pomology

(B) Pathology

(C) Entomology

(D) Nematology

Chiasma formation occurs in :

(A) Metaphase

(B) Pachytene stage

(C) Telophase

(D) All of the above

Set-C



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.
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2, T T | ST R A7 T, S R IR
feam S |

5. UAP UM B b GEM & AP fordd SR
e B, I B AR 3P YIM b SR |

6. T SR dad 3l TH. 3R, SR-U5F (OMR
Answer Sheet) R 8 A 99 2| SRS |
fRgiRd Yo & 3remar 3 del W foar wan
IR A=Y 8] 81|

7. il TH. 3R. STR-U5& (OMR Answer Sheet)
B W foras 9 @ I oI W W et @
WYY Ue fora S |

8. WIeT 9Ud & ST Wt der fRierd @
3T OMR Answer Sheet SUTE XM & I
B WeT B W W By | weneff oo ey
TE-QRAHT o S A ¢ |

9. fanfeq mfeT = 2|

10. @15 A I BR, YH-YRAdE & 3 H, WH-IR
& forv fou @reh o W & far o =iy |

11, UE-%el H dN-ga, deldeicy, Yok a2l HegerR
B o ST T SHBT START BRAT afoid 8 |
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